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Q.1 Seven boxes A, B, C, D, R, S and T are kept one over the other but not
necessarily in the same order.
Only three boxes are kept below B. Only two boxes are kept between B and
S. Only A is kept above C. R is kept at some place below D and at some
place above T.
Which box is kept at the second position from the bottom?

Ans 1. D

2. T

3. C

4. A

Question ID : 630680929330

Option 1 ID : 6306803642163

Option 2 ID : 6306803642164

Option 3 ID : 6306803642162

Option 4 ID : 6306803642161

Q.2 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.
Statements:
Some mountains are ants.
All elephants are ants.
Conclusions:
(I): Some elephants are mountains.
(II): Some ants are not mountains.

Ans 1. Neither conclusion (I) nor (II) follows.

2. Only conclusion (I) follows.

3. Only conclusion (II) follows.

4. Both conclusions (I) and (II) follow.

Question ID : 630680939631

Option 1 ID : 6306803682949

Option 2 ID : 6306803682947

Option 3 ID : 6306803682948

Option 4 ID : 6306803682950
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Q.3 Identify the figure given in the options which when put in place of '?' will logically complete
the series.

Ans

1. 

2. 

3. 

4. 

Question ID : 630680602168

Option 1 ID : 6306802356246

Option 2 ID : 6306802356244

Option 3 ID : 6306802356247

Option 4 ID : 6306802356245
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Q.4 If the water source is placed along A-B, as shown in the figure, which of the
given options will be the water reflection of the given figure?

Ans

1. 

2. 

3. 

4. 

Question ID : 630680969037

Option 1 ID : 6306803800654

Option 2 ID : 6306803800651

Option 3 ID : 6306803800652

Option 4 ID : 6306803800653
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Q.5 Based on the English alphabetical order, three of the following four letter-cluster pairs are
alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT belong to
that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position
in the letter-cluster.)

Ans 1. SZ – QB

2. HZ – EB

3. AR – YT

4. WV – UX

Question ID : 630680940220

Option 1 ID : 6306803685327

Option 2 ID : 6306803685325

Option 3 ID : 6306803685328

Option 4 ID : 6306803685326

Q.6 In a certain code language, ‘time to study ’ is coded as ‘mh cy sp’ and ‘study the case’ is
coded as ‘bg km cy’. How is ‘study’ coded in that language?

Ans 1. cy

2. km

3. sp

4. mh

Question ID : 630680939695

Option 1 ID : 6306803683202

Option 2 ID : 6306803683200

Option 3 ID : 6306803683201

Option 4 ID : 6306803683199

Q.7 Ehmran ranked 62nd from the bottom and 11th from the top in his class. How many students
are there in his class?

Ans 1. 72

2. 60

3. 59

4. 68

Question ID : 630680932812

Option 1 ID : 6306803656090

Option 2 ID : 6306803656093

Option 3 ID : 6306803656092

Option 4 ID : 6306803656091
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Q.8 A, B, C, D, Q and R live on six different floors of the same building. The
lowermost floor in the building is numbered 1, the floor above it is
numbered 2 and so on till the topmost floor, which is numbered 6.
Only A lives above B. D lives immediately below B. Only R lives below Q.
Who lives on floor number 3?

Ans 1. A

2. D

3. C

4. R

Question ID : 630680929364

Option 1 ID : 6306803642297

Option 2 ID : 6306803642299

Option 3 ID : 6306803642298

Option 4 ID : 6306803642300

Q.9 Select the set in which the numbers are related in the same way as are the numbers of the
following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into their constituent digits. E.g. 13 – Operations on 13 such as
adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and
then performing mathematical operations on 1 and 3 is not allowed.)

(18, 44, 21)
(32, 65, 28)

Ans 1. (44, 53, 89)

2. (29, 93, 13)

3. (25, 67, 11)

4. (41, 63, 17)

Question ID : 630680942796

Option 1 ID : 6306803718480

Option 2 ID : 6306803718483

Option 3 ID : 6306803718481

Option 4 ID : 6306803718482

Q.10 What should come in place of ‘?’ in the given series?

18    39 67 102 144 ?

Ans 1. 181

2. 185

3. 189

4. 193

Question ID : 630680656479

Option 1 ID : 6306802569861

Option 2 ID : 6306802569860

Option 3 ID : 6306802569859

Option 4 ID : 6306802569858
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Q.11 Select the triad that follows the same pattern as that followed by the two triads given below.
Both triads follow the same pattern.
LO-JR-MP
MP-KS-NQ

Ans 1. QT-OW-RV

2. PS-NV-QT

3. OR-MU-PT

4. NQ-LT-OS

Question ID : 630680378453

Option 1 ID : 6306801474868

Option 2 ID : 6306801474870

Option 3 ID : 6306801474867

Option 4 ID : 6306801474869

Q.12 Six teachers are sitting around a circular table facing the centre. Kerkar is an immediate
neighbour of both Anika and Natasha. Kavita is sitting second to the left of Anika. Poonam
is an immediate neighbour of Natasha and Kavita. Sasha is sitting second to the left of
Kerkar. Who is sitting third to the left of Poonam?

Ans 1. Kavita

2. Anika

3. Sasha

4. Kerkar

Question ID : 630680520604

Option 1 ID : 6306802034844

Option 2 ID : 6306802034842

Option 3 ID : 6306802034841

Option 4 ID : 6306802034843
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Q.13 Identify the figure given in the options which when put in place of the question mark (?) will
logically complete the series.

Ans

1. 

2. 

3. 

4. 

Question ID : 630680577897

Option 1 ID : 6306802270995

Option 2 ID : 6306802270996

Option 3 ID : 6306802270997

Option 4 ID : 6306802270998
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Q.14 Refer to the following letter and symbol series and answer the question that follows.
Counting to be done from left to right only.

(Left) G C & R Ω Y # E S * £ B U C & % D @ U $ P % Q & E (Right)

How many such symbols are there each of which is immediately preceded by a vowel but
not immediately followed by a vowel?

Ans 1. Three

2. One

3. None

4. Two

Question ID : 630680935607

Option 1 ID : 6306803688414

Option 2 ID : 6306803688412

Option 3 ID : 6306803688411

Option 4 ID : 6306803688413

Q.15 W is the sister of N's mother P. F is the husband of P. R is the brother of F. How is W related
to R?

Ans 1. Brother's wife's mother

2. Brother's mother

3. Brother's sister

4. Brother's wife's sister

Question ID : 630680534944

Option 1 ID : 6306802091165

Option 2 ID : 6306802091167

Option 3 ID : 6306802091166

Option 4 ID : 6306802091164

Q.16 Based on the English alphabetical order, three of the following four letter-clusters are alike
in a certain way and thus form a group. Which letter-cluster DOES NOT belong to that
group?

(Note: The odd one out is not based on the number of consonants/vowels or their position
in the letter-cluster.)

Ans 1. DZX

2. LHF

3. UQN

4. GCA

Question ID : 630680939765

Option 1 ID : 6306803683489

Option 2 ID : 6306803683492

Option 3 ID : 6306803683491

Option 4 ID : 6306803683490
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Q.17 What will come in place of the question mark (?) in the following equation, if ‘+’ and ‘− ‘ are
interchanged and ‘×’ and ‘÷’ are interchanged?

363 ÷ 3 + 1148 × 4 − 269 = ?

Ans 1. 1022

2. 1071

3. 1036

4. 1098

Question ID : 630680941855

Option 1 ID : 6306803693419

Option 2 ID : 6306803693421

Option 3 ID : 6306803693420

Option 4 ID : 6306803693422

Q.18 Select the set in which the numbers are related in the same way as are the numbers of the
following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down the
numbers into its constituent digits. E.g. 13 – Operations on 13 such as adding / subtracting
/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then
performing mathematical operations on 1 and 3 is not allowed)

(10, 80, 8)
(6, 96, 16)

Ans 1. (13, 117, 8)

2. (15, 117, 8)

3. (11, 88, 7)

4. (9, 108, 12)

Question ID : 630680962729

Option 1 ID : 6306803775178

Option 2 ID : 6306803775180

Option 3 ID : 6306803775181

Option 4 ID : 6306803775179

Q.19 If ‘A’ stands for ‘÷’, ‘B’ stands for ‘×’, ‘C’ stands for ‘+’ and ‘D’ stands for ‘−’, what will come in
place of the question mark (?) in the following equation?
27 A 9 D 35 C 11 B 6 = ?

Ans 1. 38

2. 34

3. 28

4. 36

Question ID : 630680347831

Option 1 ID : 6306801353616

Option 2 ID : 6306801353613

Option 3 ID : 6306801353615

Option 4 ID : 6306801353614
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Q.20 Refer to the following number and symbol series and answer the question that follows.
Counting to be done from left to right only.

(Left) 2 & 6 @ 8 $ 7 & 4 Ω 9 # 1 * 8 @ Ω 9 1 (Right)

How many such symbols are there each of which is immediately preceded by an odd
number but not immediately followed by an even number?

Ans 1. One

2. Three

3. Two

4. None

Question ID : 630680935636

Option 1 ID : 6306803688144

Option 2 ID : 6306803688146

Option 3 ID : 6306803688145

Option 4 ID : 6306803688143

Q.1 Aravind Adiga was given the Booker Prize in 2008 for which of the following books?

Ans 1. The White Tiger

2. The God of Small Things

3. Fasting, Feasting

4. The Inheritance of Loss

Question ID : 630680732033

Option 1 ID : 6306802868914

Option 2 ID : 6306802868915

Option 3 ID : 6306802868917

Option 4 ID : 6306802868916

Q.2 Which season in India experiences the highest temperatures?

Ans 1. Monsoon

2. Summer

3. Winter

4. Pre-monsoon

Question ID : 630680947382

Option 1 ID : 6306803714224

Option 2 ID : 6306803714227

Option 3 ID : 6306803714225

Option 4 ID : 6306803714226
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Q.3 Who among the following unveiled ‘Ethanol 100 ’, an automotive fuel aimed at reducing
emissions and promoting sustainability?

Ans 1. Narendra Modi

2. Hardeep Singh Puri

3. Rajnath Singh

4. Amit Shah

Question ID : 630680976746

Option 1 ID : 6306803831058

Option 2 ID : 6306803831060

Option 3 ID : 6306803831061

Option 4 ID : 6306803831059

Q.4 According to Article 51A of the Indian Constitution, which of the following Fundamental
Duties requires citizens to uphold and protect the sovereignty, unity and integrity of India?

Ans 1. Second Fundamental Duty

2. Fourth Fundamental Duty

3. Third Fundamental Duty

4. Seventh Fundamental Duty

Question ID : 630680941532

Option 1 ID : 6306803690668

Option 2 ID : 6306803690666

Option 3 ID : 6306803690667

Option 4 ID : 6306803690669

Q.5 Which of the following is an advantage of Functional Organisation?

Ans 1. Increases coordination

2. Promotes flexibility

3. Encourages specialisation

4. Reduces conflicts

Question ID : 630680945793

Option 1 ID : 6306803707927

Option 2 ID : 6306803707929

Option 3 ID : 6306803707926

Option 4 ID : 6306803707928

Q.6 According to the Census 2011 of India, which of the following states has the lowest literacy
rate?

Ans 1. Gujarat

2. Uttar Pradesh

3. Rajasthan

4. Arunachal Pradesh

Question ID : 630680594127

Option 1 ID : 6306802324763

Option 2 ID : 6306802324762

Option 3 ID : 6306802324760

Option 4 ID : 6306802324761
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Q.7 In which year did Julius von Sachs' study establish that starch is the first visible product of
photosynthesis?

Ans 1. 1890

2. 1854

3. 1840

4. 1875

Question ID : 630680711299

Option 1 ID : 6306802786856

Option 2 ID : 6306802786854

Option 3 ID : 6306802786853

Option 4 ID : 6306802786855

Q.8 What is India’s rank in GenAI innovations as per the July 2024 report by the UN body World
Intellectual Property Organisation (WIPO)?

Ans 1. Third

2. Seventh

3. First

4. Fifth

Question ID : 630680947088

Option 1 ID : 6306803713053

Option 2 ID : 6306803713055

Option 3 ID : 6306803713052

Option 4 ID : 6306803713054

Q.9 Who among the following announced his retirement from the head coach position of the
Indian cricket team after team India won the T20 Cricket World Cup in July 2024?

Ans 1. Rahul Dravid

2. Sanjay Bangar

3. Ravi Shastri

4. Gautam Gambhir

Question ID : 630680946958

Option 1 ID : 6306803712530

Option 2 ID : 6306803712531

Option 3 ID : 6306803712528

Option 4 ID : 6306803712529

Q.10 Which of the following Articles of the Indian Constitution deals with the establishment and
constitution of the Supreme Court?

Ans 1. Article 124

2. Article 44

3. Article 214

4. Article 370

Question ID : 630680970491

Option 1 ID : 6306803806235

Option 2 ID : 6306803806237

Option 3 ID : 6306803806236

Option 4 ID : 6306803806238
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Q.11 Crop yields can decrease due to biotic and abiotic stresses in various conditions. Which of
the following factors is/are classified as abiotic stress?

Ans 1. Insects

2. Frost

3. Nematodes

4. Diseases

Question ID : 630680942360

Option 1 ID : 6306803694088

Option 2 ID : 6306803694089

Option 3 ID : 6306803694090

Option 4 ID : 6306803694087

Q.12 At which place did Ishwar Chandra Vidyasagar set up a school for girls in India for the first
time?

Ans 1. Madras

2. Calcutta

3. Delhi

4. Poona

Question ID : 630680991037

Option 1 ID : 6306803888487

Option 2 ID : 6306803888484

Option 3 ID : 6306803888486

Option 4 ID : 6306803888485

Q.13 Which of the following programmes has the Indian government started to support minority
communities regarding women's rights?

Ans 1. Swachh Bharat Abhiyan

2. Pradhan Mantri Jan Dhan Yojana

3. Nai Roshni

4. Atal Pension Yojana

Question ID : 630680963328

Option 1 ID : 6306803777875

Option 2 ID : 6306803777876

Option 3 ID : 6306803777877

Option 4 ID : 6306803777878

Q.14 Which cytoskeletal element has a diameter of about 10 nanometres?

Ans 1. Centrioles

2. Microfilaments

3. Microtubules

4. Intermediate filaments

Question ID : 630680956189

Option 1 ID : 6306803748754

Option 2 ID : 6306803748755

Option 3 ID : 6306803748756

Option 4 ID : 6306803748757
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Q.15 The Law of Variable Proportions assumes that:

Ans 1. all inputs are variable in the long run

2. all inputs are variable in the short run

3. all inputs are fixed in the long run

4. all inputs are fixed in the short run

Question ID : 630680945853

Option 1 ID : 6306803708168

Option 2 ID : 6306803708166

Option 3 ID : 6306803708169

Option 4 ID : 6306803708167

Q.16 Tamil was the first language in India to be accorded Classical Language status in
___________.

Ans 1. 1954

2. 1997

3. 2004

4. 2000

Question ID : 630680957245

Option 1 ID : 6306803752976

Option 2 ID : 6306803752975

Option 3 ID : 6306803752974

Option 4 ID : 6306803752973

Q.17 Magha Saptam Mela is celebrated in which of the following months?

Ans 1. January

2. April

3. February

4. March

Question ID : 630680950104

Option 1 ID : 6306803725077

Option 2 ID : 6306803725080

Option 3 ID : 6306803725078

Option 4 ID : 6306803725079

Q.18 In which year did Punjab National Bank start operating its business?

Ans 1. 1895

2. 1885

3. 1875

4. 1865

Question ID : 630680960110

Option 1 ID : 6306803764356

Option 2 ID : 6306803764355

Option 3 ID : 6306803764354

Option 4 ID : 6306803764353
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Q.19 In which year was the Presidential and Vice-Presidential Elections Act passed?

Ans 1. 1952

2. 1953

3. 1950

4. 1951

Question ID : 630680932271

Option 1 ID : 6306803653868

Option 2 ID : 6306803653869

Option 3 ID : 6306803653866

Option 4 ID : 6306803653867

Q.20 What does IMD stand for in the context of weather forecasting in India?

Ans 1. Indian Meteorology Division

2. Indian Meteorological Department

3. Indian Monsoon Department

4. Indian Monsoon Directorate

Question ID : 630680942107

Option 1 ID : 6306803692986

Option 2 ID : 6306803692985

Option 3 ID : 6306803692987

Option 4 ID : 6306803692984

Q.1 A and B can do a job in 24 days and 13 days, respectively. A works alone for 19 days and
leaves. The number of days required by B to complete the remaining job is:

Ans

1. 

2. 

3. 

4. 

Question ID : 630680960967

Option 1 ID : 6306803767890

Option 2 ID : 6306803767889

Option 3 ID : 6306803767891

Option 4 ID : 6306803767892

Section : Arithmetical and Numerical Ability
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Q.2 The volume (in m3) of a cuboidal tank, whose dimensions are given as 16 m × 36 m × 14 m,
is:

Ans 1. 8078

2. 8064

3. 8017

4. 8034

Question ID : 630680827860

Option 1 ID : 6306803242776

Option 2 ID : 6306803242775

Option 3 ID : 6306803242777

Option 4 ID : 6306803242778

Q.3

Ans 1. 5

2. 2

3. 7

4. 9

Question ID : 630680108510

Option 1 ID : 630680421001

Option 2 ID : 630680421000

Option 3 ID : 630680421002

Option 4 ID : 630680421003

Q.4 A train goes from A to B at a speed of 12 km/h and returns from B to A by the same route at
24 km/h. The average speed (in km/h) of the train during the two-way journey is:

Ans 1. 13

2. 18

3. 16

4. 14

Question ID : 630680915328

Option 1 ID : 6306803586359

Option 2 ID : 6306803586358

Option 3 ID : 6306803586356

Option 4 ID : 6306803586357
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Q.5 Preetam bought an article for ₹344 and sold it to Preeti at a loss of 20%. With this amount,
Preetam bought another article and sold it at a gain of 56%. What is Preetam's overall gain
percentage?

Ans 1. 0.271

2. 0.248

3. 0.281

4. 0.274

Question ID : 630680844326

Option 1 ID : 6306803307231

Option 2 ID : 6306803307230

Option 3 ID : 6306803307232

Option 4 ID : 6306803307233

Q.6 A fruit seller had some Guavas. He sells 80% Guavas and still has 900 Guavas. Originally,
number of Guavas, he had:

Ans 1. 6750

2. 1125

3. 4050

4. 4500

Question ID : 630680573584

Option 1 ID : 6306802243207

Option 2 ID : 6306802243205

Option 3 ID : 6306802243206

Option 4 ID : 6306802243204

Q.7 An amount of ₹903 is divided among three persons in the ratio of 6 : 2 : 7. The difference (in
₹) between the largest and the smallest shares in the distribution is:

Ans 1. 341

2. 301

3. 249

4. 367

Question ID : 630680913001

Option 1 ID : 6306803576926

Option 2 ID : 6306803576924

Option 3 ID : 6306803576925

Option 4 ID : 6306803576927

Q.8 A number divided by 56 gives the quotient 147 and remainder as 10. If the same number is
divided by 55, the remainder is:

Ans 1. 47

2. 49

3. 54

4. 52

Question ID : 63068070646

Option 1 ID : 630680273208

Option 2 ID : 630680273206

Option 3 ID : 630680273209

Option 4 ID : 630680273207
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Q.9 The internal surface area (in m2) of an open cuboidal tank whose internal length, internal
breadth, and internal height are given as 31 m, 20 m, and 22 m, respectively, is:

Ans 1. 2864

2. 2900

3. 2827

4. 2899

Question ID : 630680827711

Option 1 ID : 6306803242179

Option 2 ID : 6306803242180

Option 3 ID : 6306803242182

Option 4 ID : 6306803242181

Q.10 One-third of a journey is covered at a speed of 21 km/h, the next one-third of the journey is
covered at a speed of 63 km/h and the remaining journey is covered at a speed of 86 km/h.
The average speed (in km/h, rounded off to 1 decimal place) for the entire journey is:

Ans 1. 41.6

2. 38.6

3. 39.9

4. 43.4

Question ID : 630680915344

Option 1 ID : 6306803586423

Option 2 ID : 6306803586421

Option 3 ID : 6306803586420

Option 4 ID : 6306803586422

Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 630680103820

Option 1 ID : 630680403513

Option 2 ID : 630680403511

Option 3 ID : 630680403512

Option 4 ID : 630680403514
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Q.12 A fruit seller had some Oranges. He sells 80% Oranges and still has 720 Oranges. Originally,
number of Oranges, he had:

Ans 1. 3240

2. 3600

3. 5400

4. 900

Question ID : 630680573581

Option 1 ID : 6306802243194

Option 2 ID : 6306802243192

Option 3 ID : 6306802243195

Option 4 ID : 6306802243193

Q.13 A person saves 60% of his income. If his expenditure is ₹400, then his income(in ₹) is:

Ans 1. 840

2. 1040

3. 1000

4. 700

Question ID : 630680591649

Option 1 ID : 6306802315065

Option 2 ID : 6306802315066

Option 3 ID : 6306802315063

Option 4 ID : 6306802315064

Q.14 What sum (in ₹) will earn a simple interest of ₹480 in 3 years at 20% per year rate of
interest?

Ans 1. 800

2. 400

3. 1600

4. 1200

Question ID : 630680612203

Option 1 ID : 6306802395544

Option 2 ID : 6306802395545

Option 3 ID : 6306802395546

Option 4 ID : 6306802395547

Q.15 The average of 13 numbers is 14. If each number is multiplied by 4, then what will the new
average be:

Ans 1. 14

2. 56

3. 13

4. 4

Question ID : 630680656649

Option 1 ID : 6306802570539

Option 2 ID : 6306802570538

Option 3 ID : 6306802570541

Option 4 ID : 6306802570540

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Q.16 Virat invested ₹52500 at 8% p.a. for 1 year at compound interest, compounded half-yearly.
The amount received by him is:

Ans 1. ₹56784

2. ₹55909

3. ₹56480

4. ₹56992

Question ID : 630680886090

Option 1 ID : 6306803470044

Option 2 ID : 6306803470047

Option 3 ID : 6306803470045

Option 4 ID : 6306803470046

Q.17 A started a business with a capital of ₹922000. After 2 months, B joined him with a certain
amount of capital. At the end of a year of A's starting the business, the profit was shared in
the ratio 6 : 5. How much (in ₹) did B invest?

Ans 1. 922000

2. 937300

3. 910300

4. 933200

Question ID : 630680913168

Option 1 ID : 6306803577592

Option 2 ID : 6306803577595

Option 3 ID : 6306803577594

Option 4 ID : 6306803577593

Q.18 The sum of 6 numbers is 372. Find their average.

Ans 1. 60 

2. 61

3. 63

4. 62

Question ID : 630680551882

Option 1 ID : 6306802157756

Option 2 ID : 6306802157754

Option 3 ID : 6306802157755

Option 4 ID : 6306802157753

Q.19 The list price of an article is ₹2000 and a discount of 10% is offered on the list price. What
additional discount per cent on the already discounted price must be offered to a customer
to bring the net selling price to ₹828?

Ans 1. 56

2. 50

3. 54

4. 57

Question ID : 630680802629

Option 1 ID : 6306803144675

Option 2 ID : 6306803144674

Option 3 ID : 6306803144672

Option 4 ID : 6306803144673
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Q.20 Akash can complete a piece of work alone in 8 days and Prakash can complete the same
piece of work alone in 14 days. They started the work together, but Akash had to leave 4
days before the completion of the work. In how many days will the work complete?

Ans

1. 

2. 

3. 

4. 

Question ID : 630680900479

Option 1 ID : 6306803527682

Option 2 ID : 6306803527683

Option 3 ID : 6306803527684

Option 4 ID : 6306803527681

Q.1 Select the most appropriate idiom that can substitute the underlined words in the given
sentence.

The new policy will start immediately.

Ans 1. pull the wool over your eyes

2. hit the nail over the head

3. hit the ground running

4. cry over spilt milk

Question ID : 630680931801

Option 1 ID : 6306803652027

Option 2 ID : 6306803652026

Option 3 ID : 6306803652024

Option 4 ID : 6306803652025

Q.2 Select the option that can be used as a one-word substitute for the given phrase.

A person who pretends to have more knowledge or skill than they actually possess.

Ans 1. Drifter

2. Wanderer

3. Charlatan

4. Nihilist

Question ID : 630680934141

Option 1 ID : 6306803661364

Option 2 ID : 6306803661362

Option 3 ID : 6306803661363

Option 4 ID : 6306803661361

Section : Test of English Language and Comprehension
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Q.3 Select the most appropriate option to fill in the blank.

She runs _____ athlete in her team.

Ans 1. faster than any other

2. fast than any

3. fastest than

4. more fast than any other

Question ID : 630680935274

Option 1 ID : 6306803665741

Option 2 ID : 6306803665742

Option 3 ID : 6306803665740

Option 4 ID : 6306803665743

Q.4 Select the most appropriate ANTONYM of the given word.

Profuse

Ans 1. Compliant

2. Sparse

3. Abundant

4. Depressed

Question ID : 630680935403

Option 1 ID : 6306803666244

Option 2 ID : 6306803666247

Option 3 ID : 6306803666246

Option 4 ID : 6306803666245

Q.5 Select the most appropriate synonym of the underlined word.

Ms. Apoorva’s enthusiasm for the project was contagious.

Ans 1. Eagerness

2. Reluctance

3. Fear

4. Indifference

Question ID : 630680969610

Option 1 ID : 6306803802937

Option 2 ID : 6306803802938

Option 3 ID : 6306803802935

Option 4 ID : 6306803802936
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Q.6 Select the most appropriate articles to fill in the blanks.

She saw _____ eagle flying over _____ mountains.

Ans 1. an; a

2. a; a

3. the; a

4. an; the

Question ID : 630680944636

Option 1 ID : 6306803703342

Option 2 ID : 6306803703340

Option 3 ID : 6306803703341

Option 4 ID : 6306803703339

Q.7 Select the most appropriate article to fill in the blank.

We visited _______ Louvre when we were in Paris.

Ans 1. a

2. the

3. an

4. No article required

Question ID : 630680948529

Option 1 ID : 6306803718886

Option 2 ID : 6306803718888

Option 3 ID : 6306803718887

Option 4 ID : 6306803718889

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

P. Biotechnology and genetic engineering are at the forefront of scientific innovation.
Q. They offer solutions for medicine, agriculture and environmental sustainability.
R. They enable the improvement of crop resilience and development of biofuels.
S. They pave the way for gene therapy in which faulty genes are replaced with healthy ones.

Ans 1. PQRS

2. SQPR

3. RSQP

4. QRSP

Question ID : 630680930393

Option 1 ID : 6306803646400

Option 2 ID : 6306803646403

Option 3 ID : 6306803646402

Option 4 ID : 6306803646401
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Q.9 Select the most appropriate idiom that can substitute the underlined words in the given
sentence.

She completed the project unaware of the situation.

Ans 1. out of the woods

2. in the loop

3. in the dark

4. out of the blue

Question ID : 630680931815

Option 1 ID : 6306803652081

Option 2 ID : 6306803652079

Option 3 ID : 6306803652078

Option 4 ID : 6306803652080

Q.10 Select the most appropriate option to fill in the blank.

She has _____ experience in the field of aeronautics.

Ans 1. many

2. much

3. few

4. several

Question ID : 630680935271

Option 1 ID : 6306803665729

Option 2 ID : 6306803665728

Option 3 ID : 6306803665730

Option 4 ID : 6306803665731

Q.11 Select the most appropriate option to fill in the blank.

The politician's speech was filled with _____ promises that failed to address the real
concerns of the people.

Ans 1. tangible

2. empty

3. meaningful

4. repugnant

Question ID : 630680931613

Option 1 ID : 6306803651258

Option 2 ID : 6306803651256

Option 3 ID : 6306803651257

Option 4 ID : 6306803651259
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Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. The modern game of golf originated in 15th-century Scotland.
B. It is played on a course with a series of holes, usually 18, though recreational courses
can have fewer holes.
C. The object of the game is to use as few strokes as possible to get a ball into each hole.
D. Golf is a club-and-ball sport in which players use various clubs to hit balls into a series of
holes on a course.

Ans 1. DBCA

2. ABDC

3. DABC

4. ADBC

Question ID : 630680942378

Option 1 ID : 6306803694153

Option 2 ID : 6306803694154

Option 3 ID : 6306803694151

Option 4 ID : 6306803694152

Q.13 Select the INCORRECTLY spelt word.

Ans 1. Supercede

2. Commitment

3. Resilience

4. Frustration

Question ID : 630680936254

Option 1 ID : 6306803669405

Option 2 ID : 6306803669403

Option 3 ID : 6306803669404

Option 4 ID : 6306803669402

Q.14 Select the most appropriate ANTONYM of the given word.

Expensive

Ans 1. Valuable

2. Cheap

3. Costly

4. Pricey

Question ID : 630680940512

Option 1 ID : 6306803686500

Option 2 ID : 6306803686497

Option 3 ID : 6306803686498

Option 4 ID : 6306803686499

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Q.15 Select the most appropriate option to fill in the blank.

There are only _____ apples left.

Ans 1. any

2. little

3. less

4. a few

Question ID : 630680935273

Option 1 ID : 6306803665738

Option 2 ID : 6306803665737

Option 3 ID : 6306803665736

Option 4 ID : 6306803665739

Comprehension:

Read the given passage and answer the questions that follow.

In the heart of the bustling city, there lies a quaint bookstore that has stood the test of time.
The shop, known as 'The Book Nook,' is a haven for book lovers of all ages. Its shelves are
lined with a vast array of genres, from classic literature to modern science fiction. The owner,
Mr. Thompson, is a bibliophile with an encyclopaedic knowledge of books. He often hosts
reading clubs and author signings, fostering a sense of community among the city's literary
enthusiasts. Despite the rise of digital media, The Book Nook continues to thrive, offering a
serene escape from the fast-paced city life.

SubQuestion No : 16

Q.16 What can be inferred about Mr. Thompson's role in the community?

Ans 1. He is a key figure in fostering a love for reading.

2. He is indifferent to books.

3. He discourages social gatherings.

4. He only sells digital books.

Question ID : 630680952576

Option 1 ID : 6306803734934

Option 2 ID : 6306803734933

Option 3 ID : 6306803734936

Option 4 ID : 6306803734935
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Comprehension:

Read the given passage and answer the questions that follow.

In the heart of the bustling city, there lies a quaint bookstore that has stood the test of time.
The shop, known as 'The Book Nook,' is a haven for book lovers of all ages. Its shelves are
lined with a vast array of genres, from classic literature to modern science fiction. The owner,
Mr. Thompson, is a bibliophile with an encyclopaedic knowledge of books. He often hosts
reading clubs and author signings, fostering a sense of community among the city's literary
enthusiasts. Despite the rise of digital media, The Book Nook continues to thrive, offering a
serene escape from the fast-paced city life.

SubQuestion No : 17

Q.17 Which real-world trend is contrary to the success of The Book Nook?

Ans 1. The increasing popularity of audiobooks

2. The growth of urban farming

3. The decline of digital media

4. The revival of independent bookstores

Question ID : 630680952577

Option 1 ID : 6306803734937

Option 2 ID : 6306803734940

Option 3 ID : 6306803734938

Option 4 ID : 6306803734939

Comprehension:

Read the given passage and answer the questions that follow.

In the heart of the bustling city, there lies a quaint bookstore that has stood the test of time.
The shop, known as 'The Book Nook,' is a haven for book lovers of all ages. Its shelves are
lined with a vast array of genres, from classic literature to modern science fiction. The owner,
Mr. Thompson, is a bibliophile with an encyclopaedic knowledge of books. He often hosts
reading clubs and author signings, fostering a sense of community among the city's literary
enthusiasts. Despite the rise of digital media, The Book Nook continues to thrive, offering a
serene escape from the fast-paced city life.

SubQuestion No : 18

Q.18 What is the name of the bookstore mentioned in the passage?

Ans 1. The Book Nook

2. The Reading Room

3. The Literary Lounge

4. The Novel Corner

Question ID : 630680952575

Option 1 ID : 6306803734930

Option 2 ID : 6306803734929

Option 3 ID : 6306803734931

Option 4 ID : 6306803734932
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Comprehension:

Read the given passage and answer the questions that follow.

In the heart of the bustling city, there lies a quaint bookstore that has stood the test of time.
The shop, known as 'The Book Nook,' is a haven for book lovers of all ages. Its shelves are
lined with a vast array of genres, from classic literature to modern science fiction. The owner,
Mr. Thompson, is a bibliophile with an encyclopaedic knowledge of books. He often hosts
reading clubs and author signings, fostering a sense of community among the city's literary
enthusiasts. Despite the rise of digital media, The Book Nook continues to thrive, offering a
serene escape from the fast-paced city life.

SubQuestion No : 19

Q.19 Which of the following titles best fits the passage?

Ans 1. The Book Nook

2. A Digital World

3. Modern Science Fiction

4. The Bustling City

Question ID : 630680952574

Option 1 ID : 6306803734927

Option 2 ID : 6306803734925

Option 3 ID : 6306803734928

Option 4 ID : 6306803734926

Comprehension:

Read the given passage and answer the questions that follow.

In the heart of the bustling city, there lies a quaint bookstore that has stood the test of time.
The shop, known as 'The Book Nook,' is a haven for book lovers of all ages. Its shelves are
lined with a vast array of genres, from classic literature to modern science fiction. The owner,
Mr. Thompson, is a bibliophile with an encyclopaedic knowledge of books. He often hosts
reading clubs and author signings, fostering a sense of community among the city's literary
enthusiasts. Despite the rise of digital media, The Book Nook continues to thrive, offering a
serene escape from the fast-paced city life.

SubQuestion No : 20

Q.20 What is the antonym of the word "thrive" as used in the passage?

Ans 1. Prosper

2. Flourish

3. Decline

4. Succeed

Question ID : 630680952578

Option 1 ID : 6306803734942

Option 2 ID : 6306803734941

Option 3 ID : 6306803734943

Option 4 ID : 6306803734944

Section : Test of Hindi Language and Comprehension
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Q.1 निम्नलिखित वाक्यों में से शुद्ध वाक्य का चयन कीजिए-

Ans 1. कालिदास का नाम किसने नहीं सुना?

2. कलिदाश का नाम किसने नहीं सुना?

3. कालिदाश का नाम किसने नहीं सुना?

4. कालीदास का नाम किसने नहीं सुना?

Question ID : 630680941813

Option 1 ID : 6306803691886

Option 2 ID : 6306803691888

Option 3 ID : 6306803691889

Option 4 ID : 6306803691887

Q.2 मक्खन का पर्यायवाची शब्द क्या है?

Ans 1. पावक

2. नवनीत

3. रसाल

4. कु मकु म

Question ID : 630680935696

Option 1 ID : 6306803667191

Option 2 ID : 6306803667192

Option 3 ID : 6306803667190

Option 4 ID : 6306803667193

Q.3 निम्नलिखित वाक्यों में उनके  प्रथम तथा अन्तिम अंश संख्या 1 और 6 के  अन्तर्गत दिए गए हैं। बीच वाले चार
अंश (य), (र), (ल), (व) के  अन्तर्गत बिना क्रम के  हैं। चारों अंशों को उचित क्रमानुसार व्यवस्थित कर सही
विकल्य चुनें-
1) सब जानते हैं कि हिन्दी
(य) सिद्ध होगी ही, अंग्रेजी सह राजभाषा पद
(र) देर-सवेर भारत की एकमात्र राजभाषा
(ल) से हटेगी ही, तो उस स्थिति
(व) के  अनुकू ल अपने को बना लेने के  लिए
(6) हम हिन्दी का अध्ययन कर रहे हैं।

Ans 1. र व ल य

2. ल र व य

3. र य ल व

4. ल य र व

Question ID : 630680984588

Option 1 ID : 6306803862512

Option 2 ID : 6306803862511

Option 3 ID : 6306803862509

Option 4 ID : 6306803862510
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Q.4 कोयल आम की डाल ---------- कू क रही है’ वाक्य के  रिक्त स्थान के  लिए सर्वाधिक उपयुक्त कारक चिह्न है-

Ans 1. पर

2. से

3. में

4. के  कारण

Question ID : 630680933652

Option 1 ID : 6306803659461

Option 2 ID : 6306803659460

Option 3 ID : 6306803659462

Option 4 ID : 6306803659463

Q.5 ' जिसकी थाह का पता न हो ' वाक्यांश के  लिए सार्थक शब्द है -

Ans 1. आहुत

2. अथाह

3. अथक

4. थाह

Question ID : 630680943989

Option 1 ID : 6306803700790

Option 2 ID : 6306803700788

Option 3 ID : 6306803700789

Option 4 ID : 6306803700787

Q.6 निम्नलिखित में  से एक ‘थामना’ का अनेकार्नथी नहीं है-
1. रोकना
2. पकड़ना
3. सहारा देना
4. भाग्य

Ans 1. 3

2. 2

3. 4

4. 1

Question ID : 630680930160

Option 1 ID : 6306803645478

Option 2 ID : 6306803645477

Option 3 ID : 6306803645479

Option 4 ID : 6306803645476
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Q.7 ‘मैं आया हूँ दर्शन करने ’ -उपर्युक्त वाक्य का उचित क्रम क्या है?
1.करने मैं दर्शन आया हूँ
2.मैं दर्शन करने हूँ आया
3.मैं दर्शन करने आया हूँ
4.करने आया मैं दर्शन हूँ

Ans 1. 1

2. 4

3. 2

4. 3

Question ID : 630680929284

Option 1 ID : 6306803641977

Option 2 ID : 6306803641980

Option 3 ID : 6306803641978

Option 4 ID : 6306803641979

Q.8 चर्म का तद्भव शब्द क्या है?

Ans 1. चुना

2. चना

3. चमड़ा

4. चंदा

Question ID : 630680944264

Option 1 ID : 6306803701864

Option 2 ID : 6306803701866

Option 3 ID : 6306803701863

Option 4 ID : 6306803701865

Q.9 निम्नलिखित कौन-सा शब्द ‘स्त्री’ का उपयुक्त पर्यायवाची नहीं है-

Ans 1. कांता

2. भार्या

3. वनिता

4. रमणी

Question ID : 630680934243

Option 1 ID : 6306803661746

Option 2 ID : 6306803661745

Option 3 ID : 6306803661747

Option 4 ID : 6306803661748

Q.10 निश्चित रूप से होने वाला। वाक्यांश के  लिए सही शब्द क्या होगा ?

Ans 1. अवश्यंभावी

2. भविष्य

3. अनिश्चित

4. अतीत

Question ID : 630680944239

Option 1 ID : 6306803701764

Option 2 ID : 6306803701765

Option 3 ID : 6306803701766

Option 4 ID : 6306803701763
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Q.11 ' गाल बजाना ' मुहावरे का सही अर्थ है -

Ans 1. व्यर्थ की बातें करना

2. चिल्लाना

3. अवसरवादी होना

4. सावधानी बरतना

Question ID : 630680944206

Option 1 ID : 6306803701631

Option 2 ID : 6306803701632

Option 3 ID : 6306803701634

Option 4 ID : 6306803701633

Q.12 मालिक सेवक को वेतन देता है। वाक्य में कारक है-

Ans 1. अधिकरण कारक

2. संप्रदान कारक

3. अपादान कारक

4. संबोधन कारक

Question ID : 630680935783

Option 1 ID : 6306803667538

Option 2 ID : 6306803667541

Option 3 ID : 6306803667540

Option 4 ID : 6306803667539

Q.13 अहिल्या गौतम ऋषि की पत्नी थी। वर्तनी के  आधार पर वाक्य का शुद्ध रूप क्या है?

Ans 1. एहिल्या गौतम ऋषि की पत्नी थी।

2. अहिलिया गौतम ऋषि की पत्नी थी।

3. अहल्या गौतम ऋषि की पत्नी थी।

4. आहिल्या गौतम ऋषि की पत्नी थी।

Question ID : 630680944281

Option 1 ID : 6306803701934

Option 2 ID : 6306803701932

Option 3 ID : 6306803701933

Option 4 ID : 6306803701931

Q.14 निम्न में कौन-सा मुहावरा अपने अर्थ से असुमेलित है-

Ans 1. अँधेरे में रखना - क़ै द में रखना

2. अंधेर नगरी - जहाँ धाँधली हो

3. अंधेरखाता - अन्याय

4. अँधेरे घर का उजाला - इकलौता बेटा

Question ID : 630680943899

Option 1 ID : 6306803700410

Option 2 ID : 6306803700408

Option 3 ID : 6306803700407

Option 4 ID : 6306803700409
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Q.15 सही विकल्प चुनकर वाक्य पूरा कीजिए-

वह _____________ अलग रहता है।
Ans 1. तुझे

2. तुम

3. तेरे  को
4. मुझसे

Question ID : 630680941719

Option 1 ID : 6306803691438

Option 2 ID : 6306803691441

Option 3 ID : 6306803691440

Option 4 ID : 6306803691439

Comprehension:

दिए गए गद्यांश के  आधार पर पूछे  गए प्रश्न का उत्तर दीजिए।
न्याय हासिल करने के  लिए हिंसात्मक और संवैधानिक दो रास्ते रहे हैं यह भी माना गया है कि हिंसा की राह से कु छ
तात्कालिक स्वार्थ सिद्ध हो सकते हैं, न्याय हासिल नहीं हो सकता, न्याय सिर्फ  अपराधी को दंड देना नहीं है, उसे सुधारना
तथा सच्चाई और ईमानदारी का एक समग्र वातावरण पैदा करना है ताकि अपराध न हो एक उदारवादी समाज, गैर फौजी
संस्कृ ति, पर्यावरण सचेतना, वैश्विक साझेदारी, टिकाऊ आर्थिक विकास, सामाजिक न्याय, गरीबों का आर्थिक सशक्तिकरण,
बुद्धि सम्मत राष्ट्रवाद, धार्मिक सहिष्णुता, प्रेम और व्यवहार में संवेदनशीलता आदि को नए युग में न्याय के  कदमों के  रूप में
देखा जाता है यह भी कहा जा सकता है कि जहाँ भ्रष्टाचार का बढ़ा-चढ़ा रूप है, वहाँ न्याय बालू से तेल निकालना है

SubQuestion No : 16

Q.16 प्रस्तुत गद्यांश के  लिए उचित शीर्षक क्या है?
न्याय
अन्याय
विकासमान
उतार-चढ़ाव

Ans 1. 4

2. 3

3. 2

4. 1

Question ID : 630680790850

Option 1 ID : 6306803099131

Option 2 ID : 6306803099130

Option 3 ID : 6306803099129

Option 4 ID : 6306803099128
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Comprehension:

दिए गए गद्यांश के  आधार पर पूछे  गए प्रश्न का उत्तर दीजिए।
न्याय हासिल करने के  लिए हिंसात्मक और संवैधानिक दो रास्ते रहे हैं यह भी माना गया है कि हिंसा की राह से कु छ
तात्कालिक स्वार्थ सिद्ध हो सकते हैं, न्याय हासिल नहीं हो सकता, न्याय सिर्फ  अपराधी को दंड देना नहीं है, उसे सुधारना
तथा सच्चाई और ईमानदारी का एक समग्र वातावरण पैदा करना है ताकि अपराध न हो एक उदारवादी समाज, गैर फौजी
संस्कृ ति, पर्यावरण सचेतना, वैश्विक साझेदारी, टिकाऊ आर्थिक विकास, सामाजिक न्याय, गरीबों का आर्थिक सशक्तिकरण,
बुद्धि सम्मत राष्ट्रवाद, धार्मिक सहिष्णुता, प्रेम और व्यवहार में संवेदनशीलता आदि को नए युग में न्याय के  कदमों के  रूप में
देखा जाता है यह भी कहा जा सकता है कि जहाँ भ्रष्टाचार का बढ़ा-चढ़ा रूप है, वहाँ न्याय बालू से तेल निकालना है

SubQuestion No : 17

Q.17 न्याय हासिल करने के  लिए कितने रास्ते होते हैं?
एक
दो
तीन
दस

Ans 1. 4

2. 3

3. 2

4. 1

Question ID : 630680790852

Option 1 ID : 6306803099139

Option 2 ID : 6306803099138

Option 3 ID : 6306803099137

Option 4 ID : 6306803099136

Comprehension:

दिए गए गद्यांश के  आधार पर पूछे  गए प्रश्न का उत्तर दीजिए।
न्याय हासिल करने के  लिए हिंसात्मक और संवैधानिक दो रास्ते रहे हैं यह भी माना गया है कि हिंसा की राह से कु छ
तात्कालिक स्वार्थ सिद्ध हो सकते हैं, न्याय हासिल नहीं हो सकता, न्याय सिर्फ  अपराधी को दंड देना नहीं है, उसे सुधारना
तथा सच्चाई और ईमानदारी का एक समग्र वातावरण पैदा करना है ताकि अपराध न हो एक उदारवादी समाज, गैर फौजी
संस्कृ ति, पर्यावरण सचेतना, वैश्विक साझेदारी, टिकाऊ आर्थिक विकास, सामाजिक न्याय, गरीबों का आर्थिक सशक्तिकरण,
बुद्धि सम्मत राष्ट्रवाद, धार्मिक सहिष्णुता, प्रेम और व्यवहार में संवेदनशीलता आदि को नए युग में न्याय के  कदमों के  रूप में
देखा जाता है यह भी कहा जा सकता है कि जहाँ भ्रष्टाचार का बढ़ा-चढ़ा रूप है, वहाँ न्याय बालू से तेल निकालना है

SubQuestion No : 18

Q.18 ‘बालू से तेल निकालना’ मुहावरे का अर्थ क्या है?
निरंतर गतिशील होना |
समझदार होना|
प्रगतिशील होना|
असंभव को संभव कर दिखाना |

Ans 1. 3

2. 2

3. 4

4. 1

Question ID : 630680790851

Option 1 ID : 6306803099134

Option 2 ID : 6306803099133

Option 3 ID : 6306803099135

Option 4 ID : 6306803099132
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Comprehension:

दिए गए गद्यांश के  आधार पर पूछे  गए प्रश्न का उत्तर दीजिए।
न्याय हासिल करने के  लिए हिंसात्मक और संवैधानिक दो रास्ते रहे हैं यह भी माना गया है कि हिंसा की राह से कु छ
तात्कालिक स्वार्थ सिद्ध हो सकते हैं, न्याय हासिल नहीं हो सकता, न्याय सिर्फ  अपराधी को दंड देना नहीं है, उसे सुधारना
तथा सच्चाई और ईमानदारी का एक समग्र वातावरण पैदा करना है ताकि अपराध न हो एक उदारवादी समाज, गैर फौजी
संस्कृ ति, पर्यावरण सचेतना, वैश्विक साझेदारी, टिकाऊ आर्थिक विकास, सामाजिक न्याय, गरीबों का आर्थिक सशक्तिकरण,
बुद्धि सम्मत राष्ट्रवाद, धार्मिक सहिष्णुता, प्रेम और व्यवहार में संवेदनशीलता आदि को नए युग में न्याय के  कदमों के  रूप में
देखा जाता है यह भी कहा जा सकता है कि जहाँ भ्रष्टाचार का बढ़ा-चढ़ा रूप है, वहाँ न्याय बालू से तेल निकालना है

SubQuestion No : 19

Q.19 प्रस्तुत गद्यांश का वास्तविक जीवन से सम्बन्ध क्या है?
तात्कालिक स्वार्थ |
न्याय का मानव जीवन में उपयोग |

व्यवहार में संवेदनशीलता |
ईमानदारी का वातावरण पैदा करना |

Ans 1. 1

2. 4

3. 3

4. 2

Question ID : 630680790853

Option 1 ID : 6306803099140

Option 2 ID : 6306803099143

Option 3 ID : 6306803099142

Option 4 ID : 6306803099141

Comprehension:

दिए गए गद्यांश के  आधार पर पूछे  गए प्रश्न का उत्तर दीजिए।
न्याय हासिल करने के  लिए हिंसात्मक और संवैधानिक दो रास्ते रहे हैं यह भी माना गया है कि हिंसा की राह से कु छ
तात्कालिक स्वार्थ सिद्ध हो सकते हैं, न्याय हासिल नहीं हो सकता, न्याय सिर्फ  अपराधी को दंड देना नहीं है, उसे सुधारना
तथा सच्चाई और ईमानदारी का एक समग्र वातावरण पैदा करना है ताकि अपराध न हो एक उदारवादी समाज, गैर फौजी
संस्कृ ति, पर्यावरण सचेतना, वैश्विक साझेदारी, टिकाऊ आर्थिक विकास, सामाजिक न्याय, गरीबों का आर्थिक सशक्तिकरण,
बुद्धि सम्मत राष्ट्रवाद, धार्मिक सहिष्णुता, प्रेम और व्यवहार में संवेदनशीलता आदि को नए युग में न्याय के  कदमों के  रूप में
देखा जाता है यह भी कहा जा सकता है कि जहाँ भ्रष्टाचार का बढ़ा-चढ़ा रूप है, वहाँ न्याय बालू से तेल निकालना है

SubQuestion No : 20

Q.20 उपर्युक्त गद्यांश के  आधार पर एक का सम्बंध ‘अपराध’ से नहीं है?
अभियोग
गुनाह
मुजिर
भूल

Ans 1. 4

2. 3

3. 1

4. 2

Question ID : 630680790854

Option 1 ID : 6306803099147

Option 2 ID : 6306803099146

Option 3 ID : 6306803099144

Option 4 ID : 6306803099145

Section : Discipline1
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Q.1 Which of the following is an example of a Hinge joint?

Ans 1. Shoulder joint

2. Hip joint

3. Atlantoaxial joint

4. Elbow joint

Question ID : 630680993765

Option 1 ID : 6306803899177

Option 2 ID : 6306803899176

Option 3 ID : 6306803899178

Option 4 ID : 6306803899175

Q.2 Serotonin is produced by the ______.
Ans 1. beta cells

2. raphe nuclei
3. alpha cells
4. substantia nigra

Question ID : 630680996561

Option 1 ID : 6306803909979

Option 2 ID : 6306803909976

Option 3 ID : 6306803909978

Option 4 ID : 6306803909977

Q.3 The calcitonin hormone is produced by the ______.
Ans 1. parathyroid gland

2. thyroid gland
3. adrenal medulla
4. adrenal cortex

Question ID : 630680996533

Option 1 ID : 6306803909864

Option 2 ID : 6306803909867

Option 3 ID : 6306803909866

Option 4 ID : 6306803909865
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Q.4 Which of the following is an abnormal breathing pattern
characterised by deep, gasping inspiration with a pause at full
inspiration followed by a brief, insufficient release?

Ans 1. Apneustic respiration
            

2. Paradoxical respiration
           

3. Kussmaul’s respiration
           

4. Cheyne stokes respiration
           

Question ID : 630680997488

Option 1 ID : 6306803913652

Option 2 ID : 6306803913653

Option 3 ID : 6306803913654

Option 4 ID : 6306803913651

Q.5 Which of the following diets is preferred in patients with
gout?

Ans 1. Low purine diet
            

2. High sodium diet
           

3. High fat diet
           

4. High purine diet
           

Question ID : 630680993665

Option 1 ID : 6306803898788

Option 2 ID : 6306803898790

Option 3 ID : 6306803898789

Option 4 ID : 6306803898787

Q.6 What is the meaning of PRN order in medicine administration?

Ans 1. Post meal, before sleep

2. Administered immediately

3. When required

4. Single administration

Question ID : 630680983576

Option 1 ID : 6306803858258

Option 2 ID : 6306803858255

Option 3 ID : 6306803858257

Option 4 ID : 6306803858256
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Q.7 The term procidentia means:
Ans 1. first-degree uterine prolapse

           

2. zero-degree uterine prolapse
           

3. second-degree uterine prolapse
           

4. third-degree uterine prolapse
            

Question ID : 630680992728

Option 1 ID : 6306803895213

Option 2 ID : 6306803895212

Option 3 ID : 6306803895214

Option 4 ID : 6306803895215

Q.8 Which of the following statements is FALSE about systemic circulation?

Ans 1. It starts in the right ventricle.

2. It is greater-pressure circulation.

3. It ends in the right atrium.

4. It starts in the left ventricle.

Question ID : 630680994680

Option 1 ID : 6306803902762

Option 2 ID : 6306803902761

Option 3 ID : 6306803902760

Option 4 ID : 6306803902759

Q.9 The nurse was performing a cardiovascular assessment of an adult male
patient. Where will she find the aortic area?

Ans 1. The fourth intercostal space in the left sternal border
           

2. The second intercostal space in the left sternal border
           

3. The fifth intercostal space in the midclavicular line
           

4. The second intercostal space in the right sternal border
            

Question ID : 630680983916

Option 1 ID : 6306803859712

Option 2 ID : 6306803859711

Option 3 ID : 6306803859713

Option 4 ID : 6306803859710
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Q.10 _______ is the fluid in the posterior chamber of the eye

Ans 1. Aqueous humor

2. Perilymph

3. Vitreous humor

4. Endolymph

Question ID : 630680994589

Option 1 ID : 6306803902422

Option 2 ID : 6306803902424

Option 3 ID : 6306803902421

Option 4 ID : 6306803902423

Q.11 The nurse working in a preoperative unit was caring for a patient with a cataract and
observed an order of the eye drops Atropine OS, every hour. What do you mean by OS?

Ans 1. Right eye

2. Both eye

3. Left eye

4. Unaffected eye

Question ID : 630680983685

Option 1 ID : 6306803858763

Option 2 ID : 6306803858765

Option 3 ID : 6306803858764

Option 4 ID : 6306803858766

Q.12 All of the following are the branches of the thoracic aorta, EXCEPT:

Ans 1. Bronchial Artery

2. Pericardial Artery

3. Coronary Artery

4. Superior Phrenic Artery

Question ID : 630680994678

Option 1 ID : 6306803902752

Option 2 ID : 6306803902751

Option 3 ID : 6306803902753

Option 4 ID : 6306803902754

Q.13 Which of the following is the primary site for T-lymphocyte
differentiation?

Ans 1. Thalamus
2. Epithalamus
3. Hypothalamus
4. Thymus

Question ID : 630680992877

Option 1 ID : 6306803895684

Option 2 ID : 6306803895685

Option 3 ID : 6306803895686

Option 4 ID : 6306803895687
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Q.14 The external cephalic version is commonly used to manage:

Ans 1. anencephaly

2. breech presentation

3. placenta previa

4. hydrocephalus

Question ID : 630680991171

Option 1 ID : 6306803889023

Option 2 ID : 6306803889021

Option 3 ID : 6306803889022

Option 4 ID : 6306803889020

Q.15 Which of the following vitamin deficiencies in pregnancy
leads to spina bifida in the foetus?

Ans 1. Tocopherol
           

2. Niacin
           

3. Folate
            

4. Riboflavin
           

Question ID : 630680993716

Option 1 ID : 6306803898989

Option 2 ID : 6306803898987

Option 3 ID : 6306803898988

Option 4 ID : 6306803898990

Q.16 Negri bodies in the brain commonly occur in:

Ans 1. measles

2. polio

3. rabies

4. tetanus

Question ID : 630680995444

Option 1 ID : 6306803905793

Option 2 ID : 6306803905791

Option 3 ID : 6306803905792

Option 4 ID : 6306803905794

Q.17 The disease that is also known as darling’s disease is:

Ans 1. oral thrush

2. histoplasmosis

3. candidiasis

4. mucormycosis

Question ID : 630680995682

Option 1 ID : 6306803906709

Option 2 ID : 6306803906710

Option 3 ID : 6306803906707

Option 4 ID : 6306803906708
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Q.18 Ziehl-Neelsen acid-fast staining method is commonly used to demonstrate:

Ans 1. Mycobacterium tuberculosis

2. Klebsiella Pneumonia

3. Escherichia coli

4. Coryne bacterium diphtheriae

Question ID : 630680995476

Option 1 ID : 6306803905911

Option 2 ID : 6306803905913

Option 3 ID : 6306803905912

Option 4 ID : 6306803905914

Q.19 Which of the following is the sensory speech area?
Ans 1. Parietal area

2. Wernicke’s area
3. Occipital area
4. Broca’s area

Question ID : 630680994520

Option 1 ID : 6306803902160

Option 2 ID : 6306803902158

Option 3 ID : 6306803902159

Option 4 ID : 6306803902157

Q.20 All of the following are the proximate principles of food, EXCEPT:

Ans 1. vitamins

2. carbohydrates

3. fats

4. proteins

Question ID : 630680987476

Option 1 ID : 6306803873900

Option 2 ID : 6306803873901

Option 3 ID : 6306803873902

Option 4 ID : 6306803873899

Q.1 At what age is night-time control of the bladder and bowel normally attained?

Ans 1. 3 years

2. 6 years

3. 1 year

4. 2 years

Question ID : 630680989094

Option 1 ID : 6306803880521

Option 2 ID : 6306803880522

Option 3 ID : 6306803880519

Option 4 ID : 6306803880520
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Q.2 What is the drug of choice for leprosy?
Ans 1. Chloroquine

           

2. Primaquine
           

3. Dapsone
            

4. Rifampicin
           

Question ID : 630680992955

Option 1 ID : 6306803895997

Option 2 ID : 6306803895999

Option 3 ID : 6306803895998

Option 4 ID : 6306803895996

Q.3 IDSP stands for:

Ans 1. Integrated Death Surveillance Project

2. Integrated Diarrhoea Surveillance Project

3. Integrated Disease Surveillance Programme

4. Integrated Diarrhoea Screening Programme

Question ID : 630680993450

Option 1 ID : 6306803897935

Option 2 ID : 6306803897933

Option 3 ID : 6306803897934

Option 4 ID : 6306803897932

Q.4 Which of the following diseases can be prevented by avoiding the touch of fresh water that
may be contaminated with animal urine?

Ans 1. Japanese encephalitis

2. Hansen's Disease

3. Lymphatic filariasis

4. Leptospirosis

Question ID : 630680993176

Option 1 ID : 6306803896851

Option 2 ID : 6306803896850

Option 3 ID : 6306803896849

Option 4 ID : 6306803896848
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Q.5 Wolff-Parkinson-White Syndrome is characterised by all of
the following, EXCEPT:

Ans 1. wide QRS complex
           

2. delta wave
           

3. Salvador Dali sagging
            

4. short PR interval
           

Question ID : 630680991362

Option 1 ID : 6306803889760

Option 2 ID : 6306803889763

Option 3 ID : 6306803889761

Option 4 ID : 6306803889762

Q.6 Which of the following diseases can be classified by using Stanford criteria?

Ans 1. Transposition of great arteries
           

2. Takayasu arteritis
           

3. Brugada syndrome
           

4. Aortic dissection
            

Question ID : 630680991402

Option 1 ID : 6306803889925

Option 2 ID : 6306803889922

Option 3 ID : 6306803889924

Option 4 ID : 6306803889923

Q.7 The Nadas criteria are used to assess:

Ans 1. epispadias in children

2. congenital heart disease in children

3. spina bifida in children

4. gastroschisis in children

Question ID : 630680989636

Option 1 ID : 6306803882897

Option 2 ID : 6306803882894

Option 3 ID : 6306803882895

Option 4 ID : 6306803882896
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Q.8 Which of the following stages of psychosexual development
is commonly characterised by the Oedipus complex?

Ans 1. Phallic stage
2. Genital stage
3. Anal stage
4. Oral stage

Question ID : 630680994740

Option 1 ID : 6306803902985

Option 2 ID : 6306803902986

Option 3 ID : 6306803902984

Option 4 ID : 6306803902983

Q.9 The neurotransmitter abnormality commonly associated
with epilepsy is:

Ans 1. low level of epinephrine
           

2. high level of epinephrine
           

3. low level of GABA
            

4. high level of GABA
           

Question ID : 630680994253

Option 1 ID : 6306803901097

Option 2 ID : 6306803901098

Option 3 ID : 6306803901100

Option 4 ID : 6306803901099

Q.10 Net-EN contraceptive injections contain:

Ans 1. norepinephrine ease nonoxynol

2. norepinephrine enantiomer

3. norethisterone enanthate

4. nono-estradiol edetate

Question ID : 630680993533

Option 1 ID : 6306803898266

Option 2 ID : 6306803898263

Option 3 ID : 6306803898264

Option 4 ID : 6306803898265
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Q.11 The disease cycle which represents the height of the disease
and characterised by clear-cut signs and symptoms is:

Ans 1. convalescence
           

2. defervescence
           

3. fastigium
            

4. defection
           

Question ID : 630680993265

Option 1 ID : 6306803897202

Option 2 ID : 6306803897201

Option 3 ID : 6306803897200

Option 4 ID : 6306803897203

Q.12 All of the following are the principles of primary care,
EXCEPT:

Ans 1. Inter-sectoral Coordination
2. Eliminating Technology
3. Community Participation
4. Equitable Distribution

Question ID : 630680992884

Option 1 ID : 6306803895714

Option 2 ID : 6306803895715

Option 3 ID : 6306803895713

Option 4 ID : 6306803895712

Q.13 The nurse working in the emergency department is assessing
the lung sounds of a patient with asthma. Which of the
following sounds is the nurse most likely to hear?

Ans 1. Murmurs
           

2. Korotkoff sounds
           

3. Wheezing
            

4. Pleural friction rub
           

Question ID : 630680994281

Option 1 ID : 6306803901209

Option 2 ID : 6306803901211

Option 3 ID : 6306803901210

Option 4 ID : 6306803901212
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Q.14 What is the antidote for dopamine?
Ans 1. Dobutamine

           

2. Phentolamine
            

3. Epinephrine
           

4. Norepinephrine
           

Question ID : 630680997555

Option 1 ID : 6306803913918

Option 2 ID : 6306803913915

Option 3 ID : 6306803913916

Option 4 ID : 6306803913917

Q.15 Which of the following pairs is INCORRECTLY matched?

Ans 1. Trisomy 13 - Patau syndrome

2. Trisomy 15 - Turner syndrome

3. Trisomy 21 - Down syndrome

4. Trisomy 18 - Edward syndrome

Question ID : 630680988883

Option 1 ID : 6306803879717

Option 2 ID : 6306803879718

Option 3 ID : 6306803879715

Option 4 ID : 6306803879716

Q.16 What is cryptorchidism?

Ans 1. A trapping of the penis foreskin behind the glans penis

2. A failure of the descent of testicles into the scrotum

3. A failure of the closure of the abdominal wall

4. The inability to retract the foreskin or prepuce

Question ID : 630680988973

Option 1 ID : 6306803880074

Option 2 ID : 6306803880073

Option 3 ID : 6306803880072

Option 4 ID : 6306803880071

Q.17 What are simian creases?

Ans 1. The transverse ridge and creases in the nail

2. Single transverse palmar creases

3. Creases between the first and second toes of the feet

4. Longitudinal creases in the scalp

Question ID : 630680989715

Option 1 ID : 6306803883214

Option 2 ID : 6306803883215

Option 3 ID : 6306803883217

Option 4 ID : 6306803883216
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Q.18 The following ECG represents:

Ans 1. ventricular fibrillation
            

2. ventricular tachycardia
           

3. atrial flutter
           

4. atrial fibrillation
           

Question ID : 630680997642

Option 1 ID : 6306803914263

Option 2 ID : 6306803914264

Option 3 ID : 6306803914262

Option 4 ID : 6306803914261

Q.19 In which indirect speech does the individual digress to give unnecessary and often
irrelevant details before arriving at the main point?

Ans 1. Neologism

2. Circumstantiality

3. Confabulation

4. Tangentiality

Question ID : 630680989372

Option 1 ID : 6306803881741

Option 2 ID : 6306803881739

Option 3 ID : 6306803881740

Option 4 ID : 6306803881738

Q.20 Which of the following is NOT a LMWH?
Ans 1. Enoxaparin

2. Dalteparin
3. Warfarin
4. Reviparin

Question ID : 630680994264

Option 1 ID : 6306803901143

Option 2 ID : 6306803901141

Option 3 ID : 6306803901142

Option 4 ID : 6306803901144
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Q.1 Which of the following is an eye disease affecting
prematurely born babies due to excess oxygen therapy?

Ans 1. Nyctalopia
           

2. Erythroblastosis fetalis
           

3. Amblyopia
           

4. Retrolental fibroplasia
            

Question ID : 630680989181

Option 1 ID : 6306803880860

Option 2 ID : 6306803880863

Option 3 ID : 6306803880862

Option 4 ID : 6306803880861

Q.2 Pain on deep inspiration, when an inflamed gallbladder is
palpated by pressing the fingers under the rib cage is known
as:

Ans 1. Rovsing ‘s sign
           

2. Psoa’s sign
           

3. Mcburney’s sign
           

4. Murphy’s sign
            

Question ID : 630680993931

Option 1 ID : 6306803899819

Option 2 ID : 6306803899818

Option 3 ID : 6306803899820

Option 4 ID : 6306803899817

Q.3 All of the following are the common manifestations of neonatal tetanus, EXCEPT:

Ans 1. trismus

2. dysphagia

3. hypotonia

4. opisthotonus

Question ID : 630680989182

Option 1 ID : 6306803880864

Option 2 ID : 6306803880867

Option 3 ID : 6306803880865

Option 4 ID : 6306803880866
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Q.4 A nurse working in an ICU is performing surgical hand hygiene. After hand washing, they
must keep their hands:

Ans 1. in a comfortable position

2. below the elbows

3. below waist level

4. above elbow level

Question ID : 630680996038

Option 1 ID : 6306803907896

Option 2 ID : 6306803907893

Option 3 ID : 6306803907894

Option 4 ID : 6306803907895

Q.5 A person moves away and assumes a new identity, forgetting
their old identity; this is a feature of:

Ans 1. dissociative amnesia
           

2. derealisation
           

3. dissociative fugue
            

4. depersonalisation
           

Question ID : 630680992958

Option 1 ID : 6306803896008

Option 2 ID : 6306803896011

Option 3 ID : 6306803896009

Option 4 ID : 6306803896010

Q.6 What was the theme of the International Nurses Day 2024?
Ans 1. Nurses: A Voice to Lead - Nursing the world to health

2. Our Nurses. Our Future. The economic power of care
3. A Voice to Lead - Invest in nursing and respect the rights to

secure global health
4. Nurses: A Voice to Lead - A vision for future healthcare

Question ID : 630680997457

Option 1 ID : 6306803913534

Option 2 ID : 6306803913532

Option 3 ID : 6306803913533

Option 4 ID : 6306803913531
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Q.7 Which of the following is NOT a feature of type 2 diabetes
mellitus?

Ans 1. The most common type of DM
2. Insulin-dependent diabetes mellitus
3. Adult-Onset Diabetes Mellitus
4. Endogenous insulin production is present

Question ID : 630680992599

Option 1 ID : 6306803894670

Option 2 ID : 6306803894668

Option 3 ID : 6306803894669

Option 4 ID : 6306803894671

Q.8 The extreme limit of human noise tolerance is:
Ans 1. 210 decibels

           

2. 70 decibels
           

3. 140 decibels
            

4. 35 decibels
           

Question ID : 630680993143

Option 1 ID : 6306803896719

Option 2 ID : 6306803896717

Option 3 ID : 6306803896718

Option 4 ID : 6306803896716

Q.9 All of the following statements are true regarding the
Rockefeller Foundation, EXCEPT:

Ans 1. the Rockefeller Foundation began its activities in 1913
           

2. the philosophy is that freedom and progress of Asia’s
emerging nations can be best achieved through economic, social
and cultural cooperation with industrial nations
            

3. its purpose is to promote the well-being of mankind
throughout the world
           

4. the All-India Institute of Hygiene and Public Health at
Calcutta and the Virus Research Institute at Poona were
established with aid from the foundation
           

Question ID : 630680993394

Option 1 ID : 6306803897712

Option 2 ID : 6306803897715

Option 3 ID : 6306803897713

Option 4 ID : 6306803897714
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Q.10 All of the following are included in the CLABSI bundle, EXCEPT:

Ans 1. use a maximal sterile barrier when the insertion

2. always try to insert a central line at the femoral vein

3. scrub the hub before and after each use

4. wash hands before all procedures

Question ID : 630680986187

Option 1 ID : 6306803868730

Option 2 ID : 6306803868731

Option 3 ID : 6306803868732

Option 4 ID : 6306803868729

Q.11 Which of the following involves recurrent, intense sexual
arousal from cross-dressing?

Ans 1. Transvestism
2. Frottage
3. Bestiality
4. Sodomy

Question ID : 630680993029

Option 1 ID : 6306803896286

Option 2 ID : 6306803896287

Option 3 ID : 6306803896285

Option 4 ID : 6306803896284

Q.12 BUN used for kidney function tests stands for:

Ans 1. blood uric acid nitrogen

2. blood uracil nitrogen

3. blood urea nitrogen

4. blood urine nitrogen

Question ID : 630680992750

Option 1 ID : 6306803895325

Option 2 ID : 6306803895326

Option 3 ID : 6306803895327

Option 4 ID : 6306803895324

Q.13 The term 'evisceration' means:

Ans 1. the separation of wound edges

2. the protrusion of organs through an opening in wound edges

3. pus formation in wound layers

4. the healing of a surgical wound and incision

Question ID : 630680996125

Option 1 ID : 6306803908241

Option 2 ID : 6306803908242

Option 3 ID : 6306803908244

Option 4 ID : 6306803908243
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Q.14 According to the National Immunization Schedule, the first,
second and third doses of the pentavalent vaccine are
administered at what ages, respectively?

Ans 1. At 2, 4 and 6 weeks
           

2. At 6, 10 and 14 months
           

3. At 6, 10 and 14 weeks
            

4. At 2, 4 and 6 months
           

Question ID : 630680990129

Option 1 ID : 6306803884870

Option 2 ID : 6306803884873

Option 3 ID : 6306803884872

Option 4 ID : 6306803884871

Q.15 Which of the following health committees recommended
creating a band of para-professionals and semi-professional
health workers from within the community?

Ans 1. Chadha Committee
2. Shrivatsav committee
3. Bhore Committee
4. Mudaliar Committee

Question ID : 630680992939

Option 1 ID : 6306803895934

Option 2 ID : 6306803895935

Option 3 ID : 6306803895932

Option 4 ID : 6306803895933

Q.16 A method of operative treatment for habitual abortions in the second trimester of
pregnancy is called:

Ans 1. Nissen’s fundoplication

2. Waterson’s operation

3. Potts shunt operation

4. Shirodkar operation

Question ID : 630680992292

Option 1 ID : 6306803893456

Option 2 ID : 6306803893455

Option 3 ID : 6306803893457

Option 4 ID : 6306803893454
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Q.17 For implantation, the zygote is propelled into the uterus normally after:

Ans 1. 14-21 days after ovulation

2. 8-14 days after ovulation

3. 6-7 days after ovulation

4. 1-2 days after ovulation

Question ID : 630680990554

Option 1 ID : 6306803886555

Option 2 ID : 6306803886554

Option 3 ID : 6306803886553

Option 4 ID : 6306803886552

Q.18 Which is a rare genetic malformation syndrome
characterised by the partial or complete absence of the
corpus callosum?

Ans 1. Allport syndrome
2. Aicardi syndrome
3. Leopard syndrome
4. Felty syndrome

Question ID : 630680998098

Option 1 ID : 6306803916251

Option 2 ID : 6306803916250

Option 3 ID : 6306803916252

Option 4 ID : 6306803916249

Q.19 According to WHO, breastfeeding should be continued with appropriate foods till the age of:

Ans 1. 6 months
           

2. 4 years
           

3. 2 years
            

4. 1 year
           

Question ID : 630680990211

Option 1 ID : 6306803885198

Option 2 ID : 6306803885201

Option 3 ID : 6306803885200

Option 4 ID : 6306803885199
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Q.20 Which of the following is a rare disease in which tumours cause
the stomach to produce too much acid, resulting in peptic ulcers?

Ans 1. Boerhaave syndrome
2. Zollinger–Ellison syndrome
3. Mallory-Weiss syndrome
4. Abdominal compartment syndrome

Question ID : 630680994139

Option 1 ID : 6306803900635

Option 2 ID : 6306803900633

Option 3 ID : 6306803900634

Option 4 ID : 6306803900636

Q.1 Which of the following is true regarding placenta formation?
Ans 1. Placenta formation usually begins in the 6th week and is

completed by the 12th week.

2. Placenta formation usually begins in the 12th week and is
completed by the 28th week.

3. Placenta formation usually begins in the 10th week and is
completed by the 36th week.

4. Placenta formation usually begins in the 4th week and is
completed by the 6th week.

Question ID : 630680992609

Option 1 ID : 6306803894709

Option 2 ID : 6306803894710

Option 3 ID : 6306803894711

Option 4 ID : 6306803894708

Q.2 What is the process through which the government and financial institutions put forward
invitation bids for large projects?

Ans 1. Tendering

2. Requisition

3. Procurement

4. Cost analysis

Question ID : 630680994851

Option 1 ID : 6306803903432

Option 2 ID : 6306803903434

Option 3 ID : 6306803903431

Option 4 ID : 6306803903433
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Q.3 Loosing or detachment of the nails from the nail bed is known as:

Ans 1. onychomycosis

2. koilonychia

3. paronychia

4. onycholysis

Question ID : 630680995831

Option 1 ID : 6306803907093

Option 2 ID : 6306803907092

Option 3 ID : 6306803907090

Option 4 ID : 6306803907091

Q.4 In which leadership style leaders rely on rewards and punishments to achieve maximum and
optimal job performance from their subordinates?

Ans 1. Transformational leadership

2. Transactional leadership

3. Democratic leadership

4. Laissez-faire leadership

Question ID : 630680987150

Option 1 ID : 6306803872607

Option 2 ID : 6306803872608

Option 3 ID : 6306803872610

Option 4 ID : 6306803872609

Q.5 The instrument used to grasp and hold the uterus or cervix
during vaginal examinations, intrauterine devices
placement or removal, and cervical dilatation is called:

Ans 1. Magill forceps
           

2. Babcock forceps
           

3. Vulsellum forceps
            

4. Kocher artery forceps
           

Question ID : 630680992373

Option 1 ID : 6306803893779

Option 2 ID : 6306803893776

Option 3 ID : 6306803893777

Option 4 ID : 6306803893778
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Q.6 The National Tuberculosis Control Programme (NTP) has
been in operation since:

Ans 1. 1982

2. 1962

3. 1952

4. 1972

Question ID : 630680997587

Option 1 ID : 6306803914044

Option 2 ID : 6306803914042

Option 3 ID : 6306803914041

Option 4 ID : 6306803914043

Q.7 All of the following are three-dimensional AV aids, EXCEPT:

Ans 1. Models

2. Puppets

3. Charts

4. Specimens

Question ID : 630680983383

Option 1 ID : 6306803857488

Option 2 ID : 6306803857490

Option 3 ID : 6306803857489

Option 4 ID : 6306803857487

Q.8 All of the following statements are true regarding Item C in ABC analysis, EXCEPT:

Ans 1. these items have tight control

2. it accounts for 40-50% of all inventory items

3. these items are managed by the low-level manager

4. it needs 5-10% of total inventory cost

Question ID : 630680987225

Option 1 ID : 6306803872906

Option 2 ID : 6306803872903

Option 3 ID : 6306803872905

Option 4 ID : 6306803872904

Q.9 Farsightedness is corrected by using:

Ans 1. cylindrical lens

2. bifocal lens

3. concave lens

4. convex lens

Question ID : 630680998235

Option 1 ID : 6306803916838

Option 2 ID : 6306803916836

Option 3 ID : 6306803916837

Option 4 ID : 6306803916835
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Q.10 The modification of behaviour by study participants in
response to their knowledge that they are being observed or
singled out for special treatment is known as:

Ans 1. Reactive effect
           

2. Hawthorne effect
            

3. Novelty effect
           

4. Experimental effect
           

Question ID : 630680993946

Option 1 ID : 6306803899877

Option 2 ID : 6306803899880

Option 3 ID : 6306803899878

Option 4 ID : 6306803899879

Q.11 Which of the following signs is positive if a postnatal woman has DVT?

Ans 1. Fleischner sign

2. Romberg’s sign

3. Spalding sign

4. Homan’s sign

Question ID : 630680991210

Option 1 ID : 6306803889179

Option 2 ID : 6306803889176

Option 3 ID : 6306803889177

Option 4 ID : 6306803889178

Q.12 Calculate the mean from the following sample of data.

2, 4, 4, 6, 6, 8, 8, 8, 17

Ans 1. 9

2. 7

3. 6

4. 8

Question ID : 630680981670

Option 1 ID : 6306803850485

Option 2 ID : 6306803850483

Option 3 ID : 6306803850482

Option 4 ID : 6306803850484
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Q.13 In which phase of the therapeutic nurse-patient relationship
are the patient problems noted, and coping skills identified?

Ans 1. Introductory phase
            

2. Working phase
           

3. Termination phase
           

4. Pre-introductory phase
           

Question ID : 630680998269

Option 1 ID : 6306803916984

Option 2 ID : 6306803916985

Option 3 ID : 6306803916986

Option 4 ID : 6306803916983

Q.14 How many blood vessels are present in the umbilical cord?How many blood vessels are
present in the umbilical cord?

Ans 1. Two veins and one artery

2. Two arteries and one vein

3. Two arteries and two veins

4. One artery and one vein

Question ID : 6306801005422

Option 1 ID : 6306803945521

Option 2 ID : 6306803945520

Option 3 ID : 6306803945522

Option 4 ID : 6306803945523

Q.15 While doing CVP calibration, zeroing of the manometer should be done at which of the
following levels?

Ans 1. Erb's point

2. Koch's point

3. Kauffman's point

4. Phlebostatic axis

Question ID : 630680996086

Option 1 ID : 6306803908085

Option 2 ID : 6306803908086

Option 3 ID : 6306803908087

Option 4 ID : 6306803908088
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Q.16 Who defined nursing as utilising the patient's environment to improve their conditions and
assist in their recovery?

Ans 1. Martha Roger

2. Florence Nightingale

3. Dorothy Johnson

4. Virginia Henderson

Question ID : 630680983821

Option 1 ID : 6306803859334

Option 2 ID : 6306803859333

Option 3 ID : 6306803859332

Option 4 ID : 6306803859331

Q.17 Which of the following diseases is characterised by Charcot's triad?

Ans 1. Multiple sclerosis

2. Parkinson's disease

3. Gullain barre syndrome

4. Myasthenia gravis

Question ID : 630680991229

Option 1 ID : 6306803889253

Option 2 ID : 6306803889254

Option 3 ID : 6306803889255

Option 4 ID : 6306803889252

Q.18 What are the possible foetal positions in the breech
presentation?

Ans 1. LOA and LOP
2. ROA and ROP
3. LSA and LSP
4. RMS and LMA

Question ID : 6306801005441

Option 1 ID : 6306803945597

Option 2 ID : 6306803945596

Option 3 ID : 6306803945598

Option 4 ID : 6306803945599

Q.19 Quickening usually occurs at:
Ans 1. 8-12 weeks

2. 12-16 weeks
3. 24-28 weeks
4. 16-20 weeks

Question ID : 630680992603

Option 1 ID : 6306803894684

Option 2 ID : 6306803894685

Option 3 ID : 6306803894687

Option 4 ID : 6306803894686
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Q.20 Which educational philosophy combines and draws upon ideas and principles from various
philosophical traditions and perspectives?

Ans 1. Idealism

2. Naturalism

3. Pragmatism

4. Eclecticism

Question ID : 630680993865

Option 1 ID : 6306803899562

Option 2 ID : 6306803899563

Option 3 ID : 6306803899564

Option 4 ID : 6306803899561

Q.1 Which of the following sequences is correct regarding Maslow’s hierarchy of needs?

Ans 1. Physiological → Safety → Love and belonging needs → Esteem→ Self-actualisation

2. Esteem→ Self-actualisation → Physiological → Safety → Love and belonging needs

3. Self-actualisation → Physiological → Love and belonging needs → Esteem→ Safety

4. Love and belonging needs → Physiological → Safety → Esteem→ Self-actualisation

Question ID : 630680986696

Option 1 ID : 6306803870795

Option 2 ID : 6306803870796

Option 3 ID : 6306803870793

Option 4 ID : 6306803870794

Q.2 Which of the following is the action of Diltiazem?

Ans 1. Stimulants
           

2. Calcium channel blockers
            

3. Beta-blockers
           

4. Sedatives and hypnotics
           

Question ID : 630680986821

Option 1 ID : 6306803871298

Option 2 ID : 6306803871299

Option 3 ID : 6306803871300

Option 4 ID : 6306803871297
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Q.3 Which test is used to identify the presence of occult blood in
stool?

Ans 1. Benzidine test
2. Duke’s test
3. Ivy test
4. Benedict test

Question ID : 630680996603

Option 1 ID : 6306803910147

Option 2 ID : 6306803910146

Option 3 ID : 6306803910145

Option 4 ID : 6306803910144

Q.4 Johari window is mainly used to assess which of the following?

Ans 1. Self-awareness

2. Semantic memory

3. Intelligence

4. Attitude

Question ID : 630680986713

Option 1 ID : 6306803870863

Option 2 ID : 6306803870861

Option 3 ID : 6306803870864

Option 4 ID : 6306803870862

Q.5 Which kit is shown in the given image?

Ans 1. TPN kit

2. Gastric gavage kit

3. Ryle’s tube-feeding kit

4. Gastric lavage kit

Question ID : 630680996950

Option 1 ID : 6306803911525

Option 2 ID : 6306803911527

Option 3 ID : 6306803911526

Option 4 ID : 6306803911524

https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1


Q.6 A positive drop arm test indicates:

Ans 1. Potts fracture

2. Golfer’s elbow

3. Colles’s fracture

4. Rotator cuff injury

Question ID : 630680991157

Option 1 ID : 6306803888965

Option 2 ID : 6306803888967

Option 3 ID : 6306803888964

Option 4 ID : 6306803888966

Q.7 Which of the following is a methylxanthine group of
bronchodilators?

Ans 1. Terbutaline
           

2. Aminophylline
            

3. Salmeterol
           

4. Ipratropium
           

Question ID : 630680986800

Option 1 ID : 6306803871214

Option 2 ID : 6306803871215

Option 3 ID : 6306803871213

Option 4 ID : 6306803871216

Q.8 Waste collected under the yellow category should be treated by:

Ans 1. autoclaving

2. hydroclaving

3. microwaving

4. incineration

Question ID : 630680996060

Option 1 ID : 6306803907981

Option 2 ID : 6306803907982

Option 3 ID : 6306803907984

Option 4 ID : 6306803907983

Q.9 The most common fracture in children is:

Ans 1. comminuted fracture

2. stress fracture

3. compression fracture

4. greenstick fracture

Question ID : 630680991163

Option 1 ID : 6306803888991

Option 2 ID : 6306803888990

Option 3 ID : 6306803888989

Option 4 ID : 6306803888988
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Q.10 All of the following are antipsychotics, EXCEPT:

Ans 1. quetiapine

2. risperidone

3. ziprasidone

4. bromocriptine

Question ID : 630680999661

Option 1 ID : 6306803922746

Option 2 ID : 6306803922744

Option 3 ID : 6306803922745

Option 4 ID : 6306803922747

Q.11 Uric acid crystal deposits under the skin in gout are known as:

Ans 1. Heberden’s node

2. Erythema nodosum

3. Tophi

4. Erythema marginatum

Question ID : 630680991178

Option 1 ID : 6306803889051

Option 2 ID : 6306803889050

Option 3 ID : 6306803889048

Option 4 ID : 6306803889049

Q.12 What is the article shown in the following image?

Ans 1. Infant feeding tube

2. Foley’s urinary catheter

3. Malecot catheter

4. Silicon urinary catheter

Question ID : 630680996803

Option 1 ID : 6306803910947

Option 2 ID : 6306803910944

Option 3 ID : 6306803910945

Option 4 ID : 6306803910946
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Q.13 All of the following are the diseases commonly transmitted
by lice, EXCEPT:

Ans 1. epidemic typhus
           

2. giardiasis
            

3. relapsing fever
           

4. trench fever
           

Question ID : 630680993162

Option 1 ID : 6306803896792

Option 2 ID : 6306803896793

Option 3 ID : 6306803896794

Option 4 ID : 6306803896795

Q.14 What is ambitendency?
Ans 1. Obeying every command irrespective of their nature

2. Two contradictory feelings towards something
3. A conflict to do or not to do
4. Repetition of actions observed

Question ID : 6306801000620

Option 1 ID : 6306803926344

Option 2 ID : 6306803926342

Option 3 ID : 6306803926343

Option 4 ID : 6306803926345

Q.15 According to Emile Durkheim, when or why does an egoistic
suicide occur?

Ans 1. It occurs when a man becomes socially isolated or feels
that he has no place in society and thus destroys himself.

2. It occurs due to overregulation in society, when a servant
or slave commits suicide or when a barren woman commits
suicide.

3. It occurs due to a break in social equilibrium, such as after
bankruptcy or after winning a lottery, or in a situation that has
cropped up suddenly.

4. It occurs when individuals and the group are too close and
intimate and results from over-integration of the individual into
social proof.

Question ID : 630680994291

Option 1 ID : 6306803901247

Option 2 ID : 6306803901248

Option 3 ID : 6306803901246

Option 4 ID : 6306803901245
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Q.16 The act of purging or purification or elimination of a complex by bringing it to
consciousness and affording to expression is:

Ans 1. catharsis

2. aversion therapy

3. flooding

4. systematic analysis

Question ID : 6306801001086

Option 1 ID : 6306803928455

Option 2 ID : 6306803928457

Option 3 ID : 6306803928454

Option 4 ID : 6306803928456

Q.17 Select the stage of the pressure ulcer shown in the given image.

Ans 1. Stage 4

2. Stage 2

3. Stage 3

4. Stage 1

Question ID : 630680997080

Option 1 ID : 6306803912039

Option 2 ID : 6306803912037

Option 3 ID : 6306803912038

Option 4 ID : 6306803912036

Q.18 The most appropriate nursing intervention for a patient during acute intoxication is:

Ans 1. encourage the use of positive coping skills

2. decrease in environmental stimuli

3. educate family members on how to control alcohol behaviour

4. educate on the ill effects of alcoholism

Question ID : 630680995998

Option 1 ID : 6306803907737

Option 2 ID : 6306803907735

Option 3 ID : 6306803907734

Option 4 ID : 6306803907736
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Q.19 Which of the following drugs is an alpha-blocker?
Ans 1. Propranolol

           

2. Nifedipine
           

3. Verapamil
           

4. Prazosin
            

Question ID : 630680986737

Option 1 ID : 6306803870957

Option 2 ID : 6306803870960

Option 3 ID : 6306803870959

Option 4 ID : 6306803870958

Q.20 Which of the following drugs is mainly used in the management of glaucoma?

Ans 1. Penicillin

2. Acetazolamide

3. Atropine

4. Tropicamide

Question ID : 630680991093

Option 1 ID : 6306803888709

Option 2 ID : 6306803888710

Option 3 ID : 6306803888708

Option 4 ID : 6306803888711
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